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O Orfape (/XQTE\“\G%;

S/N

Basis of
Assessment

Assessment
criteria

score

(a)

Conditions
necessary for
rusting with reason

L Monsture/water i 03
~ Airfoxygen . f1 \
—~Warmth/temperature . 4|7 @ - Scue
Reason dFHIP= 2
Oxygen-reacts-with Iron, then water.

(b)

Properties of either
Air/oxygen
OR Moisture/ water

OR

Air/ oxygen iF tape 1 o

—Adt-is-a-mixture of gases [ aft I

- Oxygen has no smell __—7/ Any 3

- Oxygen has no effect on litmus paper correct
i . ~ — b V" FHIPE

- Air/oxygen is colorless _~p, |

- Oxygen from oxides with other elements. |+ O}7

Water LF | 01_03

- It 1sacolourless\jggd

- Ithas no smell,__ ,7,

- It has no taste. .,

- Pure water bonls at 8%€_ Joa”

-:- fu\g_ W

tis a so venﬁ%r 1ofnc cpd.

(c)

Uses of either
oxygen or water

OR

Oxygen SEorg

2 .
- It supports bumibgg, o e
- For respiration/ rewg‘. Q-3 —> *
- Inhospitals to save Tife. _ | | | Any3

- For welding operations. correct
e et

- When swimming for breathing.
Water 03
- Domestic use,

- Watering crops/plant gwﬂy
- Cooling in industries. _

- _Means of transport | _—*

P(P (d)

Impact of
rust/brown coat and
mitigation

Impact ) Z Any 1
- make‘t/ls weak and blunt reducing their work correct
rate. | 4 01
™ W =
- makc;, hto,oll‘s lofozlf(less attractive. oJue o e us & IR
V) C Suy- < AR
Mitigation T 59 pa Hom A e
- Oiling/greasing the tools rect
- Keep tools in dry cool place l
/|-

'S

= 3

I3~

¢ 5

Tk AR AT
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| — \m}?a.d:
A Eﬂ‘?lb\no\.hOh/
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Item 2

A e st of Assessment
QiN_ __Assessment B Criteria _~*
; Types of products | Soapy Srevyants [ whife ol
CLOOS" : (a) o ljcufél' AL dm*“;UJ: omom M
i | Function/how does | . Soap molecule has water solublé ehd and falojl/
tombie soap or detergent grease soluble énd. . /3,—‘ . M loa
Gud work - Oil/grease soluble end sung_guﬁle oxl/grez}_g% il cagia
Spot on cloth, remove it to suspend in water.
e (b) - Water soluble end dissolVes'in water.
Sowe is - The cloth is then rifised %out two times in clean
water and spread to dry. 07
OR Detergent which work in the same way as soap.
' Side effects / danger | . Soap/detergent water throughjgr’ming water P -
‘T“‘“‘,__ fana @ Of using taken to water bodies formsa layer on the i fiomf dow- 02
7 ' 0 o " . ) A S i
= "Z:)nu Soap/detergent. ::” {z.wﬁtwhlch pwgég?_()f\c)xygen and L/L'/M gln
i /)'O/Jav J":‘P‘Q(&(L/u-{;u Jeh(jevfi
This leads to suffocation of aquatic organisms and
death of plant species.

Similarity and Similarity

difference Both soap and detergent are used for cleaning 01
Chase e T | purpose. ol
Both have hydrophilic and hydrophobic ends Any |
Lt 5 St b= oF | correct
Difference Jor A - o1

- Soap forms scum wit  hard water while
C(\ws @ one ‘[ detergent does nbt form scum with hard water.
- Soap does not contain sulphates while detergents
contain sulphates etc. P

| BEEET e
Item 3
S/N Basis of Assessment Score.
Assessment Criteria
Raw materials and Materials
process of - Nitrogen 02
productipn of - Hydrogen : FRIUES
Ammonia gas ; g+ w1
Production
(a) Nitrogen is ob{tained by fractional distillation of S
T, . ) (O W
1 ¢aw mah ¢ y Cr? l!ﬂ!]ﬁcj‘a‘l[t/;\:;w Aucltufjw" -ﬁon) Mt.:\(hrc\(\t')c\ s 03
fm : At high temperature and pressure, Nltrogen.yeacts l=3 |
cp- L‘nemv‘(a-ﬁ (&oc po,~ - | with nitrogen in the harber process to form ¢
R ~| Reackion, 'Vossef - g]:?:::]a g;as nltaip‘r{ejence of finely divided iron
s Ut T W . lalyst, «
P F 1 [; R IR N2(g) + 3H,(g) = 2NH,(g) N ad |
s L o el Ei, mem g sy " prsied over plpn,
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— Nikc

— Nt (Sy@n c('s‘.Ox.Jc
P(G)e-\cc % AXCege ov yen

o then  absovbed iw hof wo e R

o fom nitic acl Bote also Fhon_ Cha b

Ry - K

e “:\L,i‘ /;sl (e waith Contentmted Ammenit 4o Aorm rivviend
Product?o{—(;f b Concentrated nitric acid and ammonia gas are then b
amr_n.o_mxt\xm nitr [iﬂ ‘mixed together in a tank at a temperature of 100°C- 03
fertilizdP® P*‘U;“ O'Mil 0°C to form Ammonium nitrate fertilizer

Napopte "NHig) + E AR A
OR pr&%ﬁ'cg%n of° “’EMJ‘(V{S) Pu%OS(lé«mmor\:uiHanﬁgi Gt
(b) | urea fertilizer Ammonia is reacted with carbon dioxide at high L/ﬁ‘

pressure to form ammonium carbonate which

OR production of | undergoes dehydration to form urea.

Ammonium 2NH3(g) + HaSO41) ———> (NHa) SOus)

sulphate fertilizer. | Ammonia is reacted with concentrated sulphuric
acid to form Ammonium sulphate fertilizer.

Side effect and - Pollution of air leading to rt'§pi/rzﬁory Any |

A - mitigation complication. 1&:(1}{:5'{4&'@3 vy W™ M correct

i _ Pollution of water which $an poison agqmﬁ'éiic -

J . Nem— “ é
P organisms. = . _o»
10\_ ?4);)\‘){(’1“(;\‘\\ -y - Being acidic fertilizer, can burn the handshgfl( 7h o1

‘(c) workers. b’ & f m —t+<1

M- MEGER g - Mitigation

- Wear gloves, face masks. Any 1
- Wear laboratory coat while in factory. correct
- Install septic tank for waste water.
S 01
Social benefits - Employment Qp]loﬁqnities for the community Any 3
& —
L E | members. {Zﬂ f‘yyi‘fz-womc T correct
(d) 1;'-@@{; " - Improved (!roﬁ yield. .'TLC.»hchJ of /"V'Vl‘:l,",
£ -eftes of e Labegs dmproved standard of living, i =y 03
T - \npecd— - - Boots government revenue. il
R S P e e e e FETET =0T
E\E \ | — o a
Item 4 g |
Basis of Assessment Score
SN Assessment Criteria
Raw materials - Copper pyrite plyr:&pgslry
(a) - AlI' aw:;::ils; 02
- Silica 02
(b) | Process of - Improve copper is obtained by roasting copper
extraction of copper pyrite with silica and air in a furnace.
from the ore and - The impure copper is then purified by
purification electrolysis using copper (II) sulphate as an
electrolyte.
07

The impure copper is made of the anode while
the pure copper electrode as the cathode.
Reaction at the Anode

Cu(s) = Cu** (aq) +2¢

Reaction at the cathode

Cu* (aq)+2e” — Cu(s)

Then pure copper is obtained as cathode.
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i('c‘)“ ' Side effects and _ Pollution of air leads to respiratory c0}npllcatmn. Any |
mitigation . Pollution of water making it not safe for correct
consumption.
- Falling of solid particles on the bodies of 01
workers.
Mitigation
- Wear overall clothes Any |
_ Use head covering in industry. correct
- Wear face mask.
0l
(d) | Social benefits - Employment opportunities. Any 3
- Improved standard of living. correct
- Increase government revenue.
- Copper is used to make electric cables, coils and 03
constructlon of electric veﬂnclbs
(e e o2 1.4_4 T T )
[tem §
S/N Basis of Assessment Score.
Assessment Criteria
(a) Definition of Climate change is the long-term shift in weather
climate change patterns and temperature around the world. 01
Causes of climate - Cutting down of trees.
change - Industries producing goods. Any 3
(b) - Burning of fossil fuel. correct
- Severe storms. 03
- Emission of greenhouse gases.
(c) | Side effects of - Acidic gases like CO> causes acid rain which
climate change destroys crops. Any 2
- Burning of plastics releases gases such as SO, correct
HaS which causes respiratory problems.
- Burning of fossil fuels release gases which 02
pollute air.
Mitigation
- Use of catalytic converters to convert poisonous
fumes to harmless fumes.
- Recycling of plastic instead of burning, Any 2
- Afforestation - correct
- Use of alternative energy source like solar power.
02
Social benefits - Afforestatlon leads to convectlonal rainfall Wthh
boots agriculture. Any 3
d) - Recycling of plastics keeps soil structure well. correct
- Afforestation creates employment opportunities.
- Forests absorb CO which stop acid rain enabling
good crop yield.
H "wk‘ﬁb{,. @" ; T e SO o m.v 03
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Basis of
Assessment

Assessment criteria

Score.

Definition of a rock

A rock is a natural resource which consists of
minerals.

01

v 'l-'s;
oA s

yatens | K

(b)

pres of rocks and
their formation

’ ’Igneous rock formed when Magama from Earth’s

crust solidifies on the Earth’s surface.

- Sedimentary rocks are formed when igneous
rocks are weathered to form sediments. The
sediments are eroded, deposited and cemented to
form sedimentary rocks.

- Metamorphic rock formed when both
sedimentary and igneous rocks are exposed to

03

hlgh pressure and temperature.

.M'f;;'dr

(c)

Uses of roeks |
(social benefits)

- For extraction of some metals.

- Road surfacing,.

- Construction of bridges & culvets.
- For decorating

- For making paint.

- For proving building materials.

- Breaking rocks for selling.

Any 5
correct

05

@

Side effects and
mitigation

-_Covers the cracks early before widening.
B [ 7R , r,.-,-,yA Tar oy TR

e
TR T A
A THS

- Pollution of air and water due to dust.

- Water in craters as breeding place for
mosquitoes.

- Leads to malaria.

- Destruction of animal and plant species due to
falling of weak or loosely attached rocks.

- Sound pollution.

Mitigations

- Plant trees around rocks
- Drain stagnant water.

- Fence off the area.

Any 2
correct
02

Any 2
correct

02
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